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BOEHE 16,17 DR A EHME, Eﬂ;—x(9s+100)=99,

AL T4 KR E 99kg SR,

2108 (D H AP B RE A LA R R T R 2
FE_.

(2) HATEGEH AT JIREA o J 0 2 i v i
HE A 222 A, AT 8 T 2 o

i 15 2 N 2000x%_1480.

(3)ERAME—, BN, 2538 1: X — ] 2k i
BB A 805 B2 240,210,201,213,222, HZAE
TEAR Z , BLE b 2 A A TR R e A A
TR, 72 R e e R SRR

L5820 31X —JA A A e R 1R Y A B0 5
125,130,146, 180,202, ZF#iHE N, SR TERCF 3
A I A B R RO AR

S50 30 X — A b2l b R AR 1T B A A
B R 217, g T 3 A R AR T B B
157,217>157, BEWIZEAEAE b2 ik v 2 A B 47 3 R
B e SR 3 P ) 22 A B P it

L5840 X — A 1A e R 1R RS O R
PG B 2543 52 115,80,55,33,20, B
A AR P R NIRRT, TR AR
SRR R L A W

228 : COSRES i Br KN E TR

iR

P

00060

00036
00024
0001

0 50 100 150 200 250 300 350 i ffjifi fi/fiE
(% 228A8)

FARFRATER AT, 13(0.0024+0.0036+0.0060+4+0.0024 +
0.0012)x50=1, fi##+ x=0.0044.

(2)H FARVAEX R [50,100),[100,150),[150,200)
A P 8043 5 R 0.0024 x50 x100=12,0.0036 x50 x
100=18,0.0060x50x100=30,, H - 5 H (75x12+125x
18+175x30)+60=140 & ).

(3) /1 (2) %1, A FIHL & 76 X A [50,200) 9 7
BN 12+18+30=60,

WA AW R EEX T [200,350) A PECK
100-60=40.

WERT 60 /A9 A L B B0 380 x=140, )7 20
$2=1600; 5 40 F' (17 HTHLBHI 2980y, 7250 52,

278100 PR A R T8O =188, N =
5200,

[s2+(y-2)7],

ip

__ 60 40
188= 100 x140+ 100 ¥V

_ 60 1aq2]. 40
5200=7 5" [1600+(140-188)2]+ 100

[s2+(y-188)7],
i 1y=260,5:=1960, L 5,=14\/10 .
FTLAA F 7R XA [ 200,350) PR H Hl

HPREZE N 1410 .

g2l

=

Frtlmx

2021-2022 4

AN DI Y

F 158
5 3~4 RS ANSEER

— BIUERS

1A

B AT, NPT R — Bk AT RE R Bkt
A RESR B, W R P B — A BRI B Bk 2
BERLEE I A,

2.C

BR AL —N T BB e, A
TR S A S0, WA W REA (5, 5), (B,
), (& B, (&, %) Hkc.

3A

R PR X3 RUR K F 874 & A FEA 5
£(1,2,3),(1,2,4),(1,2,5),(1,3,4) . 644~ EA.

4D

IR HE SUAIA LB, CHIEH FEYLEE (R A 25
A (9 F 45 , 42 0058 SURT HIDA R G D,

5.A

PRIR AR X 7 AR 0 5 S, RN A X T
PER R & A BE AT AR 2 SR,
PEA X SE S AE R B AR AL A,

6.B

BB e — 55 5 5 kA 5 R xt
SEPE BT RS0 B AR R — S SR SR =1 -
P(4)=1-0.65=0.35.1%B.

7.C

RO K3 TRRANORERLHE R —1 T, 4100111,01011,
01101,01110,10011,10101,10110,11001,11010,11100,
10 AT AR A 25 B o 24~ 04048 4 :00111,10011,
11001, 11100, FL4Ffrm] GEAIZE SR, B LL2ANOASAH AT A Ak

I 1-4b-=0 6 HOLC.

8.C

R 2_1 pmy 2 1

?ET.FHLJ!M,HPM)_G =3 ,P(B)_G =3 ,HA
SBE P4 UB)=P(A )+P(B)=%+é—=§—.fﬁl
.

= STWRES

9.ABD

BRI 10077 i A 2 U, T R AT A I3
N BEZANRE, BOH I IES, L2434 EM,
LT A B R CREFEHLF 1, D2 SR F
4 Bk ABD.

10.ACD

B ABCER AR KL HBRICHN KL, ik
TATE#i;A+B+CE R “A,B,CELAH —AKE", T
A+B+CHIR“A B, CHRB A KA, WL W B 1% ;4 +B
FORALBEDH —ARE” I CIEM ;ABCERR
“ABREAERCEE” ABCER A, CREEBBRE",

ABCFIR“B,CARKRAHAKE" , MABC+ABC+ABCHE
NUALB,CHAE— KA IDIER . HGEACD.

11.AB

R AR AT, F A FOR 3 2 R IR
BT HEBRR I AR, O C S 3
P b R LR A 2 TE R 3 R 2R
PRIE S BAS SR, L, A S CRRERIN &4 B C
ANREFE &4 A LB, CEA B A R 28R F 0,
WA 5 CH R, B5CHJF , A 5BARX L, A5 CAX T
PEAB.

BME(E—MERTE 48

12.CD

BR: O3F =N RA LA AL A B,
By, BT ARG A T RESS RN (4,,4,) (4,
A3, (A4,B),(A,B,), (A,,A45), (A,,B), (A,,B,), (A5,
B)), (A, By, (B, By)  JE10F T BERY 25 S A0 11— %6

B O B0 0.6, BOA R 5 55047 10— 0
31~ 55209, BB s S AT LIF— % dh O ER Y
1-a5=07, HCIER; DA 1 F bR o=
0.7, i DIE A G CD.

= HEE

13.058%

SRR L AXUB T35 1, RIS H (B A OUbK T
BLF 34T T — FLIAR 5 AT R4 L S — 1
b — R 7 B A PR R 1

3

14.7

BR: AWM RSA (2,3,4),(2,3,5),
(2,4,5),(3,4,5) , 3t4h L REM B =ML 25
(2,3,4),(2,4,5),(3,4,5), 3L3%0, T LAREA 1 = A JE

KB S

15.0.85

BRI RA L O BRI — % g
S AL R

HEVAL3P(C)=0.97,P(A UC)=0.88,

B (1

B LLP(C)=1-P(C)=0.03,
FIFLAP(A)=P(A U C)-P(C)=0.85.

64
16.957

R AR, AR RS SR A i e N IE
e A B S 15 A RS L L6 0,1,2,3,4,5,6 A
TEAE T ol S5 o P P 3 SR A

FrLAP(0)+P(1)+P(2)+P(3)+P(4)+P(5)+P(6)=1,

FRABEBER I 18 P(0)+ 5 P0) 5 P(0)+

L P0) 47500+ 2 P(0) 4 g PLO)=1, 1 P(0)= 2L

m R

17.58 (1) Hx=10},y=2,3,4;

W=ff,y=1,3,4;

Mx=30F,y=1,2,4;

Hu=4if,y=1,2,3,

JF LASE 120K 6] 945 ) 0T

TOX AR A REA S AN B 12,

()1 “H— WU /N ER BB 227k i
A MA=1(2,1),(2,3),(2,4) L.

1858 . FIF A R F A I i — R, A i R 3R
(k e N,E<10), MFLFA SO E R

(Dic St —w, AP oI s 10387y A, )
P(A)=P(A,UA )=P(A5)+P(A ,4)=0.28+0.32=0.60.

()ic“fHi— ik, B ar e b H B,

W P(B)=P(A;UA,UA )

=P(A)+P(Ag)+P(A )

=0.18+0.28+0.32=0.78.

()i ()T HBRRF MGt — W, A RS

R S H R R A R, B P(B)=1-P(B)=1-
0.78=0.22.

19.88 . A AL AR R3B B A B B R2B &
A UBTA T RESS RN

(A,A5,A3),(A,A,,B), (A, A,,B,) (A ,A5,B)),

(A1,A5,B,),(A,B,,B,),(A,,A5,B)),(A,,A4,B,),

(A,,B,,B,),(A;,B,,B,),

FL10F AT REMIZS R

(1) A 7R “fr vk 3 NEB IR 5B 28 8
FFA DS HIREAR S (A,,4,,4,) IR AT BEAY 25

1
F 1
WP(A )= 10

() MBI L3 N 14 2L,
KRR A B A 5 AT
(A41,45,B)), (41,42, B,),(A1,A5,B)),
(41,A45,B,),(A2,A5,B),(A1,45,B,),

SEGRITTREHY S R BB )= =3

G)HECER T3 NELH 14 LB R
pewsiE RUTORSE HUDRISP oA 2
_9

10 -

2052 (DFEAZ Q= (1,2),(1,3),(1,4),(1,5),
(2,1), (2,3), (2,4), (2,5), (3,1), (3,2), (3,4),
(3,5), (4,1), (4,2), (4,3), (4,5), (5,1), (5,2),
(5,3),(5,4) | JL20 A &S il ca & REA A
(1,2), (2,1), (3,4), (3,5), (4,3), (4,5), (5,3),

(5,4) LSRR REILER FFRLP(C) == 2.

(KB, FA UBER R — BB A R
S R B B R R, JO ST S — R R
RS ZRER AR GENREASE
(3,1),(3,2),(4,1),(4,2),(5,1),(5,2), JLeFimTfg

HIZEHE FFLLPA UB)= 1 o= A4 N BER 4

—REB AR S R B R E R A R
A EA(1,3),(1,4),(1,5),(2,3),(2,4),(2,5), 36

AT AERIZE S, FFLLP(A m;):%:%.

20188 (1) 2 A1, TR AE SR 24 2R vh B LA I

%, Tﬂafﬂfﬁfifrﬁéﬁtﬁ?ﬁﬁffﬂ%?ﬁ%ﬁ:ms, 5=

WP(C)=1-P(A)

450.
()G (O A P A Ay +
2=3000-(653+647+450+450)=800,

IR M = ARSI A B 30x 383000 =8,

(3) 1 (2)Hly+2=800, Xy =395,2=395, W (y,2)
FrA T RELS N (395,405), (396,404), (397,403),
(398,402), (399,401), (400,400), (401,399),
(402,398), (403,397), (404,396, (405,395) , 2 11 F
AR, HFAFRR =R b LB B R
A7 FAFAR S A S (395,405),(396,404),
(397,403),(398,402),(399,401) , 35 Ffr il GEAY 45 4L,

\ 5
B LAP(A ):H.

221 (DI PIRCBTHBIY SI A BE 1, BEAC 23 (] 0=
PAE,IE), GE, 5O, O, 1), O, O H FASEFRA L BT

BRI 2 P(4)=2= 2 p(B)= 2=

L BRRLPA)=P(B) HUX AR A 9,

(IO = BB S BT A A =S [0 0= (IE,
iE,1E), (iE, IE, &), (1B, /e, 1E), (%, IE, 1B ), (1E,
B, 50, R IE B, (O, 2, 18D, (R, B2, B0 i

fff:c,n/ﬁauﬁ“hﬁwczm;”,mumc):g—:j—,m/)):

1-P(C)=3- FRELP(C) # PD) BUX AMIEAAF.
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